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Question Paper Preview

Question Paper Name: ENGINEERING 23rd April Shift 1
Subject Name: ENGINEERING
Duration: 180
Iiathematics

Number of Questions; 80

Section Marks: 80

Display Number Panel: Yes

Group All Questions: No

Question Number : 1 Question Id : 4557344001 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If f:A—Bandg: B — C are two functions such that gof: A — C is a bijection. then which
one of the following 1s always true?

gof:A— Caf By Hohsdn wddbgbitn f1A— B, g: B — Co3 o @ibahdne

08, & BohTdS® b Jedydr HEghEn?

Options:
fand g are bijections

1 fSoBosn gen Berm Haoiren

fis an injection and g is a surjection

frg a8 BHohsn HBodw g el Doyl HRoHdn

f1is a surjection and g is an injection

; feg dod Poisn Hbodn gaf wis Bachsn

f1s a biyjection but g is not a bijection

fu8 Bgho BHohdn, 50 gel Bybha Hhobho 5

Question Number : 2 Question Id : 4557344002 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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If f:R>R issuchthat f(x+v)=f(x)+f(y) forallx. ve R, f(1) =7 and

n
> f(r)=14112 thenn=
r=1

IR R 38, ©8 x,ye Reos f(x+1)=7(x)+/ () edgin dobr, f(1)=T7 508050

n
> f(r)=14112 ©008, n=
r=1

Options:
| 9

Question Number : 3 Question Id : 4557344003 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

g &NC GY B
If f1+—][1+— [1+z] (1+ ﬁ+1}:121.thenf?=
T T e |

?1?2

g
A

(. 3\, 5Y..7 2n+1)
[1+%N1+-1{1+%] [1+ t:hd |=121 eox8, n=
L \

2
', i o

Options:
1. 11

10

o]

Question Number : 4 Question Id : 4557344004 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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1 3 2"
The values of 7 such that the matrix | 2 5 t | has no inverse. are
4 T-t -6
fi 3 2
Se@E |25 t |8 Do DHom woBodh Ko fHenden
(4 T—t —6,
Options:
1. 3.2
2 3,2
2B 2
4. —3. -2

Question Number : 5 Question Id : 4557344005 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If the point P(a, 3, y) lies on the plane 2v+y+z=1 and

b & 1
la B 7]|8 2 1|=[0 0 O] thena?+p>+y=
T F 1

Dot Pla, B, y) dodwo 2x+y+z=172 God $6aw,

P 9 1

@ B 7]|8 2 1|=[0 0 0] wond, & +p*+7 =
T F 1

Options:

1. 34

7 43

3 68

4. 86
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Question Number : 6 Question Id : 4557344006 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If the system of linear equations givenbyx+y+z=3. 2x+2y—z=3.x+tv—-z=11s
consistent and if (xq. - Zg) 1s a solution. then 2xy +2vy + o=

X+y+z=3. 2+ -z=3.a+y—-2=1od iedsS 8Hrd SECre 5§D
HorfsSn eHdr 0dadn (xg. Vg. Zp) w8 QS mond, 2xy+ 21y +5p=

Options:
l. 0

L
h

Question Number : 7 Question Id : 4557344007 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If = :ﬁ then ( AR )105 =

A4 7 ” 105
::—J;JH wONE, HNE (_1::11”103) =
2 ' B e
Options:
1. Z
=3
j. =3
EX: |
3. <
WA

Question Number : 8 Question Id : 4557344008 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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3i
Ifu+iv=———thenv=
x+iv+2

5 3i
H+iv=————— wmon®, elvd 1=
x+iv+2 *

Options:
Su

Z
| +v7°

-
P
Tha
+
-

L]
]
-~
_l_
b

Quesxlon Number : 9 Question Id : 4557344009 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Let A(3 — 7). B(2 + i) be two points in the Argand plane. If the point P represents the
complex number = = x + 1. which satisfies |- — 3 + 7] = |z — 2 — j|. then the locus of the
point P is

A(3-1).B(2+1) & sfol E05265°0 Both HothIen e omro. Doy P & oécﬁi;oz.pg
=X+ DSy @b -3 +i=|2-2-1] S €)% 567, & HoHY P Dng), HohDdsn

Options:
the circle with AB as diameter

| AB g DAoim e sixéat‘m

the line passing through A and B
A 508050» B o foom ¥ T

the perpendicular bisector of AB
i AB § o0z H508m0E50D
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the ellipse with AB as major axis

. AB éo:ﬁﬁé;ar‘r—* fe &géﬁm

Question Number : 10 Question Id : 4557344010 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

‘87 . (87 S
Ifa:cns[ﬁl+fsm[ﬁl.then RE(H+a2+a3+a4+a5)=
LY / J J

f ! : ) L .
azcoslg—ﬂj+rsm[8ij BOND, Rela+a2+n3+a4+a5)=
1 11

Options:
i 0

_]
) 2

b

=
:
41

Question Number : 11 Question Id : 4557344011 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Let a. b and ¢ be three positive real munbers such that the sum of any two of them is greater
than the third. All the values of A such that the roots of the equation

2 +2(a+b+e)x+3\(ab+bc+ca)=0 arereal. are given by

G5 dd dopgen a. b HBa3» ¢ w0 Jookod] IngHa Hrd OB DEEF
&oBLnaoH880d. x2+ 2(a + b+ c)x + 3\ (ab + be + ca) = 0 BoF), Soreren THS
Bopgerdigin ol A BnE) =) denden

Options:

=
A=
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Question Number : 12 Question Id : 4557344012 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

+5b
Let f(x)=(x—a)(x—-5) —{ ﬂT l . If f(x) =0 has both non-negative roots. then the
minimum vahie of f(x)

a+b
2

flx) Z{I—ﬂ]{x—b}—[ 1 2508508, f(x) =08 Bodr and8l SHoreras 4o

S (x) G3ng) §03 Dend

Options:
_'f(?-i-f}"
1 W 4

(a+b)
T

—(a+b)’
;4

—(a+b)
4 4

Question Number : 13 Question Id : 4557344013 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If a. b and ¢ are the roots of x> + 4x + 1 = 0. then

1 1 1
+ +
a+b b+ec c+a
a.b.cen X+4x+1=0 o8, Horerds, P

1 1 1
+ -
a+b b+c c+a

Options:

-
ozt

i
L]

Question Number : 14 Question Id : 4557344014 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the sum of any two roots of the equation x° + px? + gx +7 =0 is zero. then

D868 13+ pa? +gx +11= 0 GH0E), BT Bod Borere ILo D) wond, BHVE

Options:
| T=pg

s
g
I

Question Number : 15 Question Id : 4557344015 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

LetS=4{0.1.2.3.... 100} The number of ways of selecting x. v € S such that x #y and
x+y=1001s

S={0.1.2. 3. ... 100} «f8omro. x £y Hdai» x+y =100 echgirtn x.y € S ol
LOnE W wfdane & 308
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Options:

1

5 40

3 30

4 100

Question Number : 16 Question Id : 4557344016 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If all the seven lefters of the word LEADING are permuted in all possible ways and the
words thus formed are arranged as in the dictionary order. then the word in 201 7% place is

LEADING &3 550650 Jth eforaisr 85 O orm @by, sddom JHES HTved
QH0otnH5s Do Eoed® wHbybdc, 20173 LS50 B0

Options:
| ELIGDAN

ELNADGI

-]

, ELINADG

4. ELINDAGI

Question Number : 17 Question Id : 4557344017 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

From a group of 10 men and 8 women. the number of ways of forming a committee of
8 members with not more than 5 men and not less than 5 women 1s

10 Snod Hooien, § Hob ﬁ;ﬂ HdnToso Hod 5 o8 D5 D 008 YrpOIT,
5 808 #5805 $r06 Qoo BHom &0BLLY, 8 H08 Sghgen Ko &l S0 IGESHON
e :Eof-;pg

Options:
| 8061

8060

L2

3 20997
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Question Number : 18 Question Id : 4557344018 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

1 144
+ 76
|

o

The number of rational terms in the expansion of | ° is

= | =
+
~1
=

IJJ

!._:l
]
L]

Question Number : 19 Question Id : 4557344019 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

1 5 57 ~
A A8 ABE T
Options:

3W3-245

Question Number : 20 Question Id : 4557344020 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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X B C D
If 5 =t - + 2.thenEA—3B+4C+5D=
(2x—1)(x-1) 2x=1 x=1 (x-1)

=4+ + + — w008, @ 2A -3B+4C+5D=

[21’—1](:(—1}2 2x—-1 x-1 (1__1}2 )

(]
I-.J|m

m|':;

M|E

Question Number : 21 Question Id : 4557344021 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The maximum and minimum values of the function f: [R— R defined by

f

f(x)=5cosx+ SCGSL X +§ ]—l—S for all x € R. are respectively

©& xe RS, f(x)= 5CDSJ'+3CDS[ _-.:+£]+8 AR legal: Exbly gaboho f:R— [Ra3:08),
3y

ﬁﬁ@., 5’?};;; aenden Aam

Options:
15,1

8. -8

-2

I W7

e
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Question Number : 22 Question Id : 4557344022 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If.A = {x € [E].E:r]/tanx—tanl X > {}} and B = 1' XE [0‘2.?1']/|51'11 X

i
< ;} .thenAnB=

F

{ x |0, Z,T]/tsun—tan x> Dl S8csy B —-]I. T:‘[D.ZE]{; .1.'| < %} wond, ANB=
Options:
([ Tx)

1 \‘} o 72
ﬂl IO.Z}LJ{KT o

(7 5 Tx

[ Elll 57 & ’

(7 7
4 l 6 6 _.I

Question Number : 23 Question Id : 4557344023 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of solutions of the equation 4 cos26-cos3B=secB. when 0 <0 < m. is

0 <0 <moonddyd 4 cos20-cos30 =sec 6 2 380850 @Bng) Trgse Dopg

Options:

], 2

4

L2

Question Number : 24 Question Id : 4557344024 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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i ; :
If Cos™ % J+ Cos™ l ] = 6. then 957 —12xycosf+4y” =
= e

& J +Cos™!

Cos™ 1 ]: 6 wond. 9x° —12xvcos 8+ 4}-‘2 =

W '

-

Options:
| 36sin’0

37sin’@

L2

39sin?0

Laa

. b |
36cos-0

e

Question Number : 25 Question Id : 4557344025 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

T o - -7 ) ; ;
If x=log, [cor[ JI+ 7] '} and & = [ 4T EJ . then consider the following statements:

1‘:lugg|:mt[g+ﬁ]:| 06050 55{ | womsiyd & Eob BSOS Sorsosos:

I:coshx=sec28

II: sinh x=—tan 260

Then which one of the following options is true?

@iV & §ob wiFest I6 BHdgsn?

Options:
I1s true and I 1s false

i ;‘C’:ég:m Sobodn I Eﬁf‘;ég:’m

I1s false and I1 1s true
; IE‘-.—‘&@@&&}J S08cdy 11 ﬁég;’m

-,
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Both I and IT are true

5 I 5360w Il Bodr ;‘5-1"55533

BothIandII are false
A [ 500080 [IDodr eddgsn

Question Number : 26 Question Id : 4557344026 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

InAABC ifa=2.5= /6 and ¢ =+/3 +1. then sin? C —sin2A =

AABC &° n=2.b=.qu %3800 c=+/3 +1 =on3, wHveds sin® C —sinA =

Options:

1543

4

NE
3

i
I’y

2

Question Number : 27 Question Id : 4557344027 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In AABC. a°.cos(B—C)+b>.cos(C—4)+c.cos(4—B) =

AABC s, o°. cos(B—C)+ bg,cos{l‘f‘ —A)+ ¢>.cos(A—B) =

Options:
yabe

atb+ec

| ]

3 2 abc
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Question Number : 28 Question Id : 4557344028 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

. =—Fr Fo —F I —Fr
mAABC 1 —+2 —+3 =

a b c

| T |
AABCS —42 4 =

Options:
I+t

1 5

B -I-i"f_:. +Fé

2s

ri+3'3+}'3

3 2

?'1 4 F"f_:r +F’3
4, 3s

Question Number : 29 Question Id : 4557344029 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

a.b.c are three vectors such that |E| =% ‘E ‘ =19, |F| =7.1f @a.b.€ are perpendicular to

- — - — 2
the vectors b +c. ¢ +a. a +b respectively, then J (@+b+c) —2=

3
D

-3
-2
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X
423

Question Number : 30 Question Id : 4557344030 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If @.bh.7 are non coplanar vectors. then the point of intersection of the line passing through
the points 27 +3b —¢. 3G +4b —2¢ with the line joining the points a—2b +3€.

F6h 1 i

a.b.¢ o0 ©8b0% 56388, 20 +3b —¢. 3G +45 —2¢ HoHYe HomSFDEVe 510050

#—9k 13 T—6b+6C HohIes gend) Spe podd Hodd

Options:

L3
o
.-|—
-2
=

=
il
I3
=
+
|

Question Number : 31 Question Id : 4557344031 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

iz _» e 2 . =2 - 2 T
If @.b.c areunit vectors and the maximum value of ‘n —b‘ - ‘b — (‘| - |.:‘ — rr| 1s k. then

_ B =
k(2a” +3b —4c7) =

: . T asll b HF . e
a.b. ¢ o chrdi HHdeon, ‘rr—b‘ +‘b—(‘ +|t_“—ﬂ'| o:mégr HER Jend kr&“mpﬁ$jc§3,

k(2a" +3b —427) =

Options:
l. 6
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Question Number : 32 Question Id : 4557344032 Question Type: MCQ Display Question Number : Yes Single Line Question
Optlon No Option Orientation : Vertlcal

Let@=27i +] 7—2kand pb =7 + j be two vectors, T is a vector such thﬂt d.c =

c—al|= 2+/2 . If the angle between @ xb and ¢ is 30°. then ‘{5 b _)-*'CF‘ is equal to

G=27+j—2k $005 =7+ o Bodk $BFen. ¢ @ 365 T =|7| Hodo»

|E—ﬁ| =242 & Jﬂgf‘;__ 0B, Txb 5HBdn To Sy S'sain 307 ¢ OB, v ‘(ﬁfib )XC_“ =
Options
3
5
1. =
s
7 3
"
3, <

”|ﬁT|

Question Number : 33 Question Id : 4557344033 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ifnr—.=_+ k&, b =2 -74+3k ancl?z?—f and if
67 +27 +3k =4 @b )+ A, (b <T)+ A (Txa). theu(f{l.ff,‘ As)=
i+j+k, b=21-j+3k.c=1—-] uddr,
6: +27+3k =4 (axb ]+/L,{E; €)+A4(Txa) wona Shples .(1%1./?;2;!{3}:
Options:
(11 4 19)
i 8




Question Number : 34 Question Id : 4557344034 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ifa=27+j—3k.b=1-2j+k.c=—i +j—4k and d =7 +J +k, then
(3:B)+(e 7)) -

.E=2F+J_f—3u3?. b=7-2j+k.t=—7+7—4k $b05» =T+ THE scvn,
(axB)<(e )] -

Options:
| Sy114

13
LA
2
i

Question Number : 35 Question Id : 4557344035 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The standard deviation of the numbers 22. 26. 28. 20. 24, 30 1s

22.26, 28, 20, 24, 30 &3 DOPLE) iﬁl}é{-r B0 dderddn

Options:

N
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Question Number : 36 Question Id : 4557344036 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The marks obtained by students A and B in 3 examinations are given below

Marks of A 30 20 40

Marks of B 70 0 5

o5 3 H8E0d” SIS Srdy e Boh Jomr o,

A s_:oc:-ﬁEI ﬁ?dﬁ'ﬂrm 30 20 40

B -:ﬁ:uéEI wmam 70 0 5

The ratio of the coefficient of variation of marks of A and the coefficient of vanation of
marks of B 15

A G0 ardy o IBOTr08HNSE) 00tn, B BnE), &Sy o ddoarosdndsanie dNE

Options:
&5 1

5:83

L2

!_A:I
ki
L]

4 5:361

Question Number : 37 Question Id : 4557344037 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a number 1s chosen at random from out of the four digited numbers formed by using the
digits 0. 1. 2. 3. 4. 6 without repetition. then the probability that it is divisible by 4. is

0.1.2.3. 4. 6 =080k HSHE BLom &HATrHod) JHESHe Tenth wose dopged®

5008 e.5TA0 odrdyihgor JSnE0D, b 4 B rioddirad Ho Doardgs

Options:
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17

| 100

17
, 50

13

3 30

13

4 25

Question Number : 38 Question Id : 4557344038 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Four cards are drawn at random from a pack of playing cards. The probability of getting
exactly two cards from the same suit and the remaining two cards from two different
suits 18

w8 DE S o S ok oSrayingor et B8 g e a3k, o8s” pinbon
Bodky D8 S o &8 Dap (suit) Hok, HAdS Bod WE S0 o Bodk DY) Jape
(suits) Sod ol o Hogrdgd
Options:

72 %169

24 %169
42549

184169
425x 49

Ll

6169
425x49

I

Question Number : 39 Question Id : 4557344039 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

www.android.univer sityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



A random variable X has the following probability distribution

X=1'I. —2 —1 0 1 2

P(X=x.) l k l k l
W% | B 4 ¢

AE] ;:ﬁ?ffh{itl;é dood X & (8ob ;’30?;‘-*.;‘35.? S}ag‘-*am‘-‘?ﬂ 590 wod

X=1'?. —2 -1 0 1 2

P(X=x ! k 1 k .1
=g | e 4 ¢

The variance of this random variable 1s

% odreinE deod g oG
& o T —

Options:
1 0

Question Number : 40 Question Id : 4557344040 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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3 1
For a binomual variate X with parameters » = 5 and 2 :E' if & ZEP{X;—“ 3) and

'ﬁ:P{X*_‘J 2).then256 (p—o) =

1
n=>5 p=—of soddeom §OAS &l BHE Sood X §, ang(Xr_:-B)maoa;a

B=P(X<2) wond, sydo 256 (B— o) =
Options:

i =1

2. 0

3 1

42

Question Number : 41 Question Id : 4557344041 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Let A. B and C be three points m a plane. The locus of a point P moving such that
PA’+PB*=2PC’isa

A. B. Cen 28 006570 Srd DohIolosod. «ivd PAZ+ PBRZ=2 pC? Ecﬁ}gm@
5908 2.8 Hochd) P BnE), HohdHgo a8

Options:
Straight line

| 364 Dy

Pair of straight lines

| 55% By ooy

Circle
, o

Parabola
4 te vl Slewhle)
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Question Number : 42 Question Id : 4557344042 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

- = 3 . :
When the coordinate axes are rotated by an angle Tan 1{1 J about the origin. then the

equation x2 + 12 = 9 is transformed to the equation

{ 3 k1
F o _1 £
Darefiohyd Hdomr Jdrag wsed Tan t1| S'dnd” sy BohodldHvds,
I" r

2432 =9 wh $inEsnsn BwE), H8588 HAESHD

Options:
1. 1—2 _.112 " 9

232+ 2y =4

L2

Question Number : 43 Question Id : 4557344043 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Let a. b and ¢ be distinct and none of them is equal to 1. If the lines x + av + a = 0.

a b &,
bx+ v+ b=0and cx + cv+ 1 =0 are concurrent. then the value of + + 1s

a-1 b—-1 -1

a. b, c oo HPITEen H00%n A w58 1§ Jirso sEFod. H6¥ dpen x+av+a=0.

: a b c

bx+yv+0=0.cx + ey +1=0eidse wond, e + + e
o a-1 b-1 c-1

Options:
11
7 —1
3 2
4.0

Question Number : 44 Question |d : 4557344044 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If ad — be # 0. then the area (in sq. units) of the parallelogram formed by the lines
ax+by+2=0,ax+by+5=0,cx+dy+3=0andex+dy+7=0is

ad —bc #0 mona, ax + by +2=0.ax + by +5=0. ex + dy + 3 = 0 58a5»
ex +dy+7=0e3 $6¢ Bpod B SSrodbsdhiyne JTrogo (Si oHrdLsT)

Options:
-
|ﬂ'd —br|

l.

-
|fm’ —Erc‘|
2.

.
lad —be|
3

12
1 |r1ra" —bc|

Question Number : 45 Question Id : 4557344045 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The circumcentre of the triangle with vertices at (—2. 3). (1.-2)and (2. 1) 1s

(-2, 3). (1,-2) 500050 (2. 1) 05 3005800 @ahas 5058 Togo

Options:
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Question Number : 46 Question Id : 4557344046 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the straight line 2x+ 3y + 1 =0 bisects the angle between a pair of hnes. one of which in
this pair 1s 3x + 2y + 4 = 0. then the equation of the other line in that pair of lines 1s

2.8 J0¢ Ogr oSS wE J6¢ Op 3x+ 2y +4 =0 ehdr, s S6¢ Ogr aSud
i te Bead)y, BT Op 2x+3y+1= 0 HoBepods D08, & HE¢ Dar a0
S8 $5¢ Op DDEGSM

Options:

| Jx+4p—9=0

2 80X —Ty—14=0
5 I +46y-28=0
g IX—23p—-12=10

Question Number : 47 Question |d : 4557344047 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The area (1n sq.units) of the triangle formed by the straight line x + v = 3 and the angular
bisectors of the pair of straight lines ¥> — 12 + 2y =1. is

36¢ Bp x+y =3 50050 HE¢ By Ao x* —37 + 2y =1 Bng Fo SHbeposd
Bood 535;557 Gehe dTego (§. dhrdiyes®)

Options:
l. 1

[
I3

Question Number : 48 Question Id : 4557344048 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The product of the lengths of the perpendiculars drawn from the point (—1. 5) to the pair of
lines 22 —xv— 37+ 6r+v+4=01is

(1. 5) Dot H08 22 —xv— P2+ 6 +y+4=0 554 Bar a3nmAs AdS voere
archaen 20

Options:
68

Question Number : 49 Question Id : 4557344049 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

ABCD is a square with side 16 units and A is the origm. If the equation of the circle
circumscribing the square ABCD is x2 + 12 = 4k (x + v). then k=

A HY dore Hot)d 8875 ABCD wa SRS D08, ghaaiin &rda) 16 chrdin.
ABCD 3&5i@r8) 508y%0 B0 S)fo 308608 x2+32 =4k (x +1)=ond, ebvt k=

Options:
| 9

24
; 16

4, 64

Question Number : 50 Question Id : 4557344050 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If P(x;. ¥;) 1s a point such that the lengths of the fangents from it to the circles
2> +3?—4x—6y—12=0and x>+ 17+ 6x+ 18v+ 26 = 0 are in the ratio 2:3. then the locus
of Pis

P(x;. 3y) @3 D08 %00 2 +37 —4x -6y —12=058050 2 +17 +6x+ 18y +26=0

i

SymesH HDS Hyddve SFdHe IRG 2:3 wond, P @n) Hothdgo

s
od

Options:
| 2412+ 245 - 361+ 62=0

a2 +32-24x+36r+62=0

L-2

x?+37 24y - 54y -88=0

, X+ 245+ 36y +62=0

Question Number : 51 Question Id : 4557344051 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the lines 2x + 3 +12 = 0. kx — 3y — 10 = 0 are conjugate with respect to the circle
:rz —I—j-'z —4x+3v—1=0.then k=

7 —I—yl —4x + 3y — 1 =0 5850 Syarg, 2x +y +12=0 500050 kx -3y —-10=0 Open
S00%0meond, Blyd k=
Options:

14

-9

L2

Question Number : 52 Question Id : 4557344052 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

www.android.univer sityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



wWww.andr oid. previousgquestionpaper s.com | WM. pr eviousgquesti onpapers.com | WWw.10S.previousguestionpaper s.com

The length of the transverse common tangent of the circles = +_1*2 —2v+4vy+4=0and
2 =
K +yv +4x—2y+1=01s

P+ 2+ Ay +4=050050 1 +37 +4x—2v + 1 = 0 Symed do 8658 &Xnh
Dy0m FEDH

Options:

L3
N7

3 V15

Question Number : 53 Question Id : 4557344053 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the angle between the circles x Lk i 6v+41=0and X+ _1‘1 +hkx+6v—59=0
is 45°. then a value ofk is

X437 — 120 — 6y + 41 = 058050 & + 37 + kr +6y — 59 = 0 0 Syme So6558%00 45°
wond, k DwE) 8 Jend

Options:
1, 0

L-2
|
i

Question Number : 54 Question Id : 4557344054 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the lengths of the tangents drawn from a point P to the three circles X+ j; —4=0,
x —i—j-‘2 —2x+3v=0and X —I—j.'1 + 71— 18 = 0 are equal. then the coordinates of P are

A —4=0.07 437 - 20 + 3= 0500050 12 +37 + Ty — 18 = 0 e Sarch Symeds,
P 20633 Sood ADS égti?;rﬁga}@ arden JdrsHG, P mﬁx:-ézr AErHETeD

Options:
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2. 5)
(2.

(3.4)

L

3 (4. 3)

4. (5.2)

Question Number : 55 Question Id : 4557344055 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For the parabola _1'2 + 6v — 2x + 5 = 0. match the items in List-I with the suitable item in
List-II given below:

Slephlalonblo _1‘2 +6y—2x+5=08 erdig-1 570 wored aia-1157°0 S0zond wored
e S5 e

List-I List-II
erde-1 erdie-11
3 :
I) Vertex A) [—?—3]
%{:{a
s
) Focus B) [: —3
J*8)
I) Equation of the directrix ) 2x4+5=0

D%t HdnEY00

IV) Equation of the axis D) 2x+y+3=0
g HvEGmo
E) »+3=0
F) (-2.-3)
The correct matching is

BOEHS 58

Options:
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I I I IV

 F A E C
I I m N
2F A C E
I I m N
A cC D
I I m N

Question Number : 56 Question Id : 4557344056 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If 5x — 2y + k=0 1s a tangent to the parabola 1 = 6x. then their point of contact 1s

2 = 6x Horseciral Sx — 2 +k=0 28 5H00p «ond, o 59 Dok

Ot

Options:

69
2

£

u-lcn

)

Eﬂlm
e

[ 6
&

Question Number : 57 Question Id : 4557344057 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

www.android.univer sityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



wWww.andr oi d. previousgquestionpaper s.com | WWwW. pr eviousgquesti onpapers.com | WWw.10S.previousguestionpaper s.com

If S and S' are the foci of an ellipse. B is one end of the minor axis and |SBS' = 90° , then
the eccentricity of that ellipse 1s

S dobBodn S'en a8 é;ggaaﬁagm G0E), Trgben, EER(ESn GnE) af wody Do)
B 500050 [SBS' =90° wond, & AgS)dsn @ng), ¢804

Options:

Question Number : 58 Question Id : 4557344058 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The points of intersection of the perpendicular tangents drawn to the ellipse 4x° + 9*_*.2 =36
lie on the curve

Ay: + 91.-2 =16 5giéﬁgjé A0S oo NGB Pods HodhPhews &od IHEo
Options:

| T =13

Question Number : 59 Question Id : 4557344059 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If the eccentricity of a hyperbola is 5 . then the eccentricity of its conjugate hyperbola is

|

5.8 @8HTdochin G, ) old < =onsd, o7 Hodkhu)

L

LF b T Eby T Ten NEA B b cﬂr,é;r

&B) ol

Options:
q

i

2

L2

|

r__‘-llm

Question Number : 60 Question Id : 4557344060 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the vertices of a AABC are A= (2. 3. 5). B=(-1. 3. 2). C=(3. 5.-2). then the area of the
AABC (in sq. units) 1s

AABC %D:‘:l@} A=(2.3.5).B=(1.3.2). C=(3. 5. -2) =ons, AABC E%"@géx]
(3. o:ﬁmﬁ@ﬁ?*}

Options:
L 642
8\/3
3 W2

. 82

L2

Question Number : 61 Question Id : 4557344061 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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B e : ;
with X-axis. Y-axis respectively. then the angle

NE

If a line makes angles Tan_lﬁ . Tan !

made by it with Z-axis is

G

pE 36¢ O X-=gdn, Fuegdned 36dm Tan /7. Tan 122 Sasnes D008,

V3

e B8 Op Z-ogS5n& Josn §sdw

Options:
T
1 2
T S
— or
6
;4 ST
— B
" 6 6
T 2
{ Lo 01' —_—
3 3
= BIwg .
3. 3 3
T aT
4
£ SIng ok
4. 4 4

Question Number : 62 Question Id : 4557344062 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A plane passes through the point (3. 5. 7). If the direction ratios of its normal are equal to
the intercepts made by the plane x + 37+ 22 =9 with the coordinate axes, then the equation
of that plane 1s

28 doo (3.5.7) @3 Hody rhom F&od. o0 wHhoowldy EnE), HF e,
x+3y+2:=9 doo A6rHE epod 3 woddpomeos H3rddnHéod, s oo BuE)

Hengdao
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Options:

1_?n{-i-jr-i-:=i7.1

6x+2y+3z=1035

L-2

12x+4y+ 6z =49

Lad

6x+2y+32=49

I

Question Number : 63 Question Id : 4557344063 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

2x
If 7:]0.2) = Risdefined by f(x)= 1+? for 0=x<l1

Jox for 1<x <2

where £ = 0. and f1s such that lim Ff(x)= lim f(x).then the value of i is

x—l1 x—l

i o)
l1+2X p<x<1s
k> 0eddr, f(x)={  k

| kx 1<x<28

™ adeEmS £1[0.2) = R @hoho, im f(x)= m f(x) sdhgtrénod, wded £ Densd

— ol
x—1 x—1

Question Number : 64 Question Id : 4557344064 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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sin(a +1)x +smnx 5.2
%
If the function /: [R — R defined by f(x)=< b =0
Vr+x? —fx
5 x>0
x/2

i1s continuous on [R. thena + A=

-

sin(a@ +1)x+smx o
5

f(x)=4 b L =0
_—

i E
x/é

m DtDodnds iR — R o3 @dhoho, R 2 @dNGR8, edvd a+b=

Options:
l. —1

Question Number : 65 Question Id : 4557344065 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

[

Letf bedefinedonD=R —{-1.1} by f(x) = ; | | Then
S J’
x|
D=R-{-1.1}% f(x)= 3 | | ™ QEDSHEH wHFomro. whHyd
f— ‘1' L
Options:
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f1s differentiable on D
, D fadgedohsn

f1s differentiable on D except atx=10

=058 DdH DD feodsedohnin

f1s continuous but not differentiable on D

; D [edinGsn, 50 wifododhdn 55
[fis differentiable but not continuous on D

D % fusdsedohdn, s°d ©INHD0 526

Question Number : 66 Question Id : 4557344066 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If x=secf—cosf. y=sec" @—cos" 8 then LA
dx
fﬁ
x=secf —cos, y=sec" 8—cos" § =00 I:
Options:

L2

Question Number : 67 Question Id : 4557344067 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If v=asinx+(5+2x)cosx. then y"+ v =

v=asinx+(542x)cosx wonzd, y"+y=

Options:
| 4 cosx

—4 cosx

L3

4sinx

(5]

Question Number : 68 Question Id : 4557344068 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The area (in sq. units) of the triangle formed by the tangent and the norinal at the point

(a \ el i

\ —_ —J to the curve —-+-— =1 and the X-axis is

A \/E 2 a” b._
12 ' > b ;

Sigo —,}+1—q =173 Doy l S —] 3G ADS DGy, wdHeowdy $H605n X-wgoes’
a” b° \E \E

Options

E(ﬁz —I—Z)z]
l.
5 4ab

b
22\ +5%)
4 2ab

Question Number : 69 Question Id : 4557344069 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The interval in which the function f(x) = D log x. for x = 0 decreases. 1s

x> 08 f(x) =2x" —log x, 3 HH0H0 856500 Bod wodbo

Options:

1 (2. 4)

Question Number : 70 Question Id : 4557344070 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

fix)=(x—-1)(x-2)(x—3) for xe [0.4]. then the value of ¢ € (0. 4) satisfying Lagrange's

mean value theorem. 1s

xe [0.4] &, f(x) =(x—1) (x— 2) (x — 3) wonB, Brod Hoggd Dend Do S

50% c € (0.4) Dng), Dend

Options:

3+J§

=
1. =

NE

3

-2

24

L2

Ziﬁ
3 E
Siﬁ
4 3

Question Number : 71 Question Id : 4557344071 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The curve f(x) = ¢" sinx is defined in the interval [0. 27]. The value of x for which the slope
of the tangent drawn to the curve at x 1s maximum. 1s

fx) = €' sinx 3§50 [0, 27] =o08850e5” DODI0DGHG. = IE°R8 x 3G ADS OBy
e, 0HBchglitn 0B x Dend
Options:

s

4

b | 5y

o | =

4 3

Question Number : 72 Question Id : 4557344072 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

- x—1 g,

i (.1‘+1}J.1‘(.1‘3 - :a‘+1-)

Options:

B 'g':rz-l—erl W

Tan —————lE
X

B
:rz—i-:r+1
—— |+c

2.Tan ™}
-

L2

Tan

\

x+l+l
5} X ]
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Question Number : 73 Question Id : 4557344073 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
C053 e CDSL‘ X

) .
Sl X+ 51114 X

dx =

Options:
, sinx—6Tan M(sinx)+c

; ML,
smx—2(smx) +c

_ 5i11:'r—El[sin:lr}_‘l —6Tan_l{si111'} +c

[N ]

slnx— E(Siu:r“}_l +5Tan (sinx)+c

e

Question Number : 74 Question Id : 4557344074 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

- ax

“fanx+colx+secx+cosecx

Options:

L
;(.SIII.T—CDSI-l-I:}-l-C
l. =

k-
—(smx—cosx—tanx+cotx)+c

b -

L i :
—(siImx—cosx—x)+c¢
5.2

:{siux +cosxy—tanx—cotx)+c
4. =

Question Number : 75 Question Id : 4557344075 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If £ (x) =.’|‘cc:-sec5 xdx.then f ‘ % ‘ =

fx)= | {cnsecsxdx =003, ff

i,

BN



Options:

—l[iﬁ—ilog(ﬁ+1ﬂ+r

4

—l_S\IE—SIDg(\/E-FI}_-FC

7, M
_é_?ﬁ+310g(£+1.}_ +c
3 |- =
1 [
, g[ﬁﬁflcg(ﬁ+1ﬂ+f

Question Number : 76 Question Id : 4557344076 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If @ and b are positive integers such that & > a. then

|1 1 1 1
lim | —+ + i —— | =
naw| Ha na+l na+2 nb

: 1 1 1 1
b>a edhsbtn a, b §SrTosoans, lim | —+ T FTuoiF—2|=
97 e & n—sx=| na na+l na+2 nb

Options:

lﬂgll_f%\

L2

s log(ab)

4 log(a + b)

Question Number : 77 Question Id : 4557344077 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

dx =

}- T xtanx
0 secxy+tanx

Options:
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.-'T S 2

2

T+2

m(7+2)
3 2

m(mr—2)

4, 2

Question Number : 78 Question Id : 45657344078 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The area (in sq. units) of the region lying in the first quadrant and enclosed by the X-axis.

the straight line x— NE 1 =0 and the circle 2 +3 =4, is

X-wg50, x—+3y=0 556¢ Bp 58090 2 +17 =4 &3 5185008 s360508S, 30358
FEHNST w0B @Wrodo Perwgo. (8. 0hrddye’)

Options:
7
3

g

3 243

2n

s 3V2

Question Number : 79 Question Id : 4557344079 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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If / and m are the degree and the order respectively of the differential equation of the
family of all circles in the XY plane with radius 5 units, then 2/+ 3m =

XY deoes 5 o:ﬁm?&é;u ;Fga“r:j’a&n ol -@S&i ia@én@ £3800805) drdod 2S58es
HanEdasn cfméa E5KE 538050 DBSFrSVen SHHT [ m wons, ﬁnéjcéj 21+ 3m=

Options:
o

10

k-2

Question Number : 80 Question Id : 4557344080 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

T T ; - ; b
If g e 1 then the general solution of the differential equation

2 dy ,
cos x-d;—(tmﬂr}y:cos‘tr 1s
=

T T
—E-::xaz wond, wikos $HEdmo cos’x- j—1—(tm121}1-—c05 X @B0g) T
X

A5
Options:
[ tan2x +c }

E
| | 1—tan~ x

cas.’!x+c‘}

: 1—t.213:12 X

L2

s [smzt +c

1—tan” J
|

[ S X +¢
y=—
1—tan” x
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Number of Questions; 40

Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 4557344081 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Energy perunit volume and angular momentum can be added dimensionally.

Reason (R): Physical quantities having same dimensions can be added or subtracted.

dFo (A):  eho Horr Is°of HSHOSrwr0E He 80 Hrdokn Fdosh BBgHRma)
ErES3ND (E0nSEn0)
g0 (R): 238 ddhen fo FasocHos Soddord, sgagesonn Bobbsyn

Options:
Both (A) and (R) are true and (R) is the correct explanation of (A)

| (A). (R) &0 Bods H8550 550050 (R), (A) % 585 2568

Both (A) and (R) are true but (R) is not the correct explanation of (A)
(A). (R) o0 Bodr Sdgdn ' (R). (A) & &35 D88 s°¢h

L2

(A) 1s true but (R) 1s false
. (A) Hegin 570 (R) eosdefgidon

(A) 1s false but (R) 1s true
i (A) wddgdn 500 (R) Hedgdn

Question Number : 82 Question Id : 4557344082 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body is projected vertically upwards with a velocity ‘u’ from the top of a tower, Time
taken by it to reach the ground is *n’ times the time taken by it to reach the highest point in
its path. Height of the tower is

2.8 A)03ndo $08 2.8 SHHI W Ko’ Y I 28 DM, @b Frdod BHES
a’zégé soN0, wh E5565085°0 ﬁ;‘fﬂéa’n Hoths Db éég?@aﬁnééa ‘n’ BEx
©ond Ao Jd)

Options:
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nu? (n—1)

1. 2g

nu’ (n—2)

2

L2

nu’ (n—2)

3, 2g

2

u-
—(n+1)
4. 28

Question Number : 83 Question Id : 4557344083 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body 1s projected horizontally from the top of a tower of height 180 m with a velocity of
20 ms™!, If acceleration due to gravity is 10 ms™ then match the following.

List -1 List-II
A)  Velocity of the body after 1 second (in ms™1) Iy 3
B) Horizontal displacement of the body after 1 second (inmeters) II) 20
C) Vertical displacement of the body after 1 second (in meters) oy 10
D) Vertical velocity of the body after 1 second (in ms™) V) 224

180 m 24k Ao 2.8 3pdo Hod af 5% 20 ms13Mos §as dSrodbonr dbod.

fhdes Sedeo 10 ms2 =003, % §oh T 2EHGHH0.

rda -1 gde - 11
A) a8 DED Sogd S5 Do (ms~1e5%) Iy 5
B) &8 8 dogd 550 88z ddrodd spigodo (DdrgesT) m 20
C) a8 DEd dogd 20 §62 oo ﬂ;;ﬁ@io%’o (Dréages”) Iy 10
D) a8 DE5 dogd 5 §8e wow Iifo (ms~! e5%) V) 224

The correct answer is
38538 Ddrprdan

Options:
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A B C D

| IV I i I

A B & D

g 1 i m N
A B C D
A I i

| vV I il

Question Number : 84 Question Id : 4557344084 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two towers A and B. each of height 20 m are situated a distance 200 m apart. A body thrown
horizontally from the top of the tower A with a velocity 20 ms™ towards the tower B hits
the ground at point P and another body thrown horizontally from the top of tower B with a
velocity 30 ms~! towards the tower A hits the ground at point Q. If a car starting from rest
from P reaches Q in 10 seconds. the acceleration of the car 1s

(Acceleration due to gravity = 10 ms—)

2.57.5.4 20 mJdiie ABaln B = o) Ipore 0@y drdsn 200 m epdo A
506 §&= ddrodsor 20 ms! 3o 2pdo B 3% D085 a8 3853 ey oo Ped
oy, dpdo B 2 Hood §&2 Sdroddon 30 ms™ JKoS 2o AJB J2BS H0E'8
55389 #rdy drd Q @3 HohHPK arston. P S o S S0 wohedds i s
Q& ThHH HYS sreo 10 080t wond, s 5°H ajng{i?aé

(d>dg Scdwo = 10 ms™)

Options:
| 1ms™

2 ms—

-2

3 3ms™

4 4ms=2

Question Number : 85 Question Id : 4557344085 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A particle of mass 4M which is imtially at rest explodes into three pieces of masses M.

M and 2M. The equal masses move along X— and Y— axes with velocities 4 ms™! and 6 ms™

respectively. The magnitude of the velocity of the heavier mass is

QTR0 %@5‘5 €5e3) 4M (Bagorane &8 S, (gagorden M. M:dosn ZMfe 518 e
DERN0 BobHh. Jdrd Gagorden fo dug e X-o8din Y- egre Job S0dm
4 ms™! 56050 6 msT o Jred® SDoaron. wond 8IS GBLoR Ko Sng D HOBETBO

Options:

L V17 ms™
7 Z\E ms
3 Jﬁms_l

V13
— 1S

4.

Question Number : 86 Question Id : 4557344086 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

As shown in the figure. two particles. each of mass ‘m’ tied at the ends of a light string of
length 2a are kept on a frictionless horizontal surface. When the nud point (P) of the string
is pulled vertically upwards with a small but constant force F. the particles move towards
each other on the surface. Magnitude of acceleration of each particle. when the separation
between them becomes 2x is

28788 m’ (5508 Dot Swdned 2a rddiio 850 WIgoredard Pisn 0ot
Fdo 3¢ ShHad, Hiond az Jdrodd doon HLod® Srad Idom GodaEon.
TS0 Dy Hodd (P) S E{gc’.’i@eﬁ Jge) weodn F& dLde0dm 28ernidhyd, Soiooen
2.8 POSEE wdhdopomr dodn 670N, .;’:ocﬁg ¢3or e hﬁg@éﬁ@, e;?& Lo
:::Eo:mga, é£{‘i£ﬁ&’1}3

Options:
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Question Number : 87 Question Id : 4557344087 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A particle is released from a height H. At a certain height its kinetic energy is half of its
potential energy with reference to the surtace of the earth. Height and speed of the particle

at that instant are respectively

e.8 S0 Had) Hok addaerd. grahddoo dg Fod 43957 oron Hézd§ ovd

nda¥8es® o o1 & 2065 Tron Jd) o & SHSdm

-3 2
Options

H [2¢H
1. 3 3

H &8
7 3 3

-

== PR
3 3

2H |(2gH
g 3 3

Question Number : 88 Question Id : 4557344088 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Abullet of mass 10 g pierces through a plate A of mass 500 g and then gets embedded into

a second plate B of mass 1.49 kg as shown in the figure. Initially the two plates A and B are

at rest and move with same velocity after collision. The percentage loss in the initial kinetic
energy of the bullet when it is between the plates A and B is

(Neglect any loss of material of the plates during the collision)

10 g |85gom3rie .8 enddy Hros® Srds Do 500 g BS5078 fie a8 Jef A Hom
$r008§) 1.49 kg 855078 e Bods Hof B &5 3§ adoddronod. Fand JHoRsS”

‘513} o Hesen ASodosn B edirdo dovgd o8 ko Sheron. @i ASdain B
ey L‘itjg ﬁn}i‘%{éa o0 FO f@edfed” §DAS ¢ ?.; €0

(es)Pdrefoes HeEe éﬁﬂg ESEQ&&)JESJ Ejf}ﬁsfi{:-tﬁéﬁigll

Bullet
m@ﬁ
Plate A Plate B
Sed A aeE B
Options:
W
2 56.25
5 43,75
4. 73

Question Number : 89 Question Id : 4557344089 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The moment of inertia of a body about a given axis is 12 kgm?. Initially the body is at rest.

In order to produce a rotational kinetic energy of 15000 J. an angular acceleration of
10 rads must be applied about that axis for a duration of

BE S sddr grdvso adhd =go Sormr 12 kem? 3oty e e 50D VoeHos” wob.
15000 J g@dom rad8d «dg Dosnerdy 10 rads? §hoh dcdeo

SNRVJBT PAFNOBIVVD SO0

)y =8 =0 Do

3-\'_

Options:
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L2

10 s

h
o

Question Number : 90 Question Id : 4557344090 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A light rope 1s wound around a hollow cylinder of mass 4 kg and radius 40 cm. If the rope 1s
pulled with a force of 40 N, it"s angular acceleration is

4kgeo @S850, 40 cm o Tgrgantie a8 ?Tmzﬁgaﬁﬂ Hr BO8S arddn Sepd.
a3 @0 40 N meod® eAs, s BrHo ng), §Boh Hido

Options:

| 0.40 rads™

0.25 rads™2

L-2

3 25 rads™2

4 40 rads™

Question Number : 91 Question Id : 4557344091 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the case of a simple pendulum executing SHM. at t = 0. the bob is not at the mean
position. The graph drawn between the tension (T) in the string and time (t) is

b5lel ] ﬁﬁD"‘é_éé Seso Eﬁ;’a_g;’}i .8 exdnedteio DA% t=0 3G o Moty Sorigaos
pSo 3¢ Bk, o rdos R $5g8 (T) %, sPoo (1) 5 Dodg HAS D)

o
Options:
y-axis

T
:

 X-AX1S

www.android.univer sityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



www.andr oi d.previousguestionpapers.com | WWw. pr evi ousguesti onpaper's.com | WWW.i 0S. pr eviousguesti onpaper s.com
V-ax1S

T.
T

> X-aX1s

|

L2

— X-AXIS

4 t—

Question Number : 92 Question Id : 4557344092 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An artificial satellite of mass ‘m’ is moving along an elliptical path around the earth. The
areal velocity of the satellite is proportional to

‘m’|GEgo8 Mo 8 By esHiIran gran dhdar 5%3 SEs=E §84eT° &6thdod.
&HE D9gano B08 v irdhordos” eodd.

Options:
1 1n

!

L2

311

4 m72

Question Number : 93 Question Id : 4557344093 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A rubber cube of side 5 cin has one face fixed while a tangential force 1800 N is applied on
its opposite face. If modulus of rigidity of rubber is 2.4x10% Nm™ then the lateral
displacement of the strained face is

5 cmZheo ardan i a8 ﬁmﬂc‘b D90 cﬁ:s::ézr 2.8 5J3'%"PF~31 ?géom 0w, 008 wdHdnpomnr
és;&g danpow 1800 N o K}Jdﬁ}éaﬁaw@ B@rfotado. 533;}.53@ cﬁ';lc;S@f-' (faago
2.4x109 Nm2=ond J5rdn Snpo G0008), ﬁ“é&g{:ﬁa raigiodo

Options:

| 3 mm

4 5 mm

_ 15 mm

Lid

4 1.5 mmm

Question Number : 94 Question Id : 4557344094 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Water stands upto height “h’ behind the dam as shown in the figure. The front view of the
dam gate 1s also shown in the adjoming figure. Density of water is ‘p’ and acceleration due
to gravity 1s ‘g’. If atmospheric pressure force is also considered. the point of application
of total force acting on the dam due to water above ‘0’ is

28065 SrHddnr wf sith HHS A6 h’ I8 08 doad eHh. esdEdy i Snok
griio (Byfgo) 198), D0 Srodinm codnob. QOES wros p’ SoBada ableth M ofole
‘gL it BEd werd) Srm H0HET, ‘07 % 38 U8 Sol =38y Indo weo HATDH

0O

T

h

9 ——a —
Side view of Front view of
dam gate dam gate
Chiy Tién 5588 T
©5), SyEgo Swoddy Syigo
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Options:

h
4

h
3

b | &

Question Number : 95 Question Id : 4557344095 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The time taken for a calorimeter containing 75 g of water at 62 °C to cool to 58 °C is
9 minutes. When the calorimeter contains 105 g of water. it takes 12 minutes to cool from
62 °C to 58 °C. The water equivalent of the calorimeter is

75 g Q0 EOAS 8650 drdadh 62 °C H0@ 58°C % derdibafs Hinsteo 9Adoaren. 360
AretHS® 105 g &t S5H3% 62 °C 108 58 °C & Serdrbrs Hinseo 12 9o,
BS0IrL0) GnE) sedergoso

Options:
 10g

Question Number : 96 Question Id : 4557344096 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Three rods of same dimensions have thermal conductivites 3K, 2K and K. They are arranged
as shown in the figure below. Then in the steady state the temperature of the junction ‘P’ is

8 Fodes de Srd $Ge 4355S Mooy 3K, 2K H00in K. = &0l §0b

HEB0GT SrHBLnT :JGT:JEJJ Doy, e %@@i ¢ Hof P 56 &P

S0°C

100°C
0=C

Options:

200 4.
;3

100 o
7, 3
3 Tae

q

50 o
4 3

Question Number : 97 Question Id : 4557344097 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Freezing compartment of a refrigerator is at 0 °C and room temperature 1s 27.3 °C. Work
done by the refrigerator to freeze 1 g of waterat 0 °C 1s

(Lice=80calg™)

BEeB6E Brok BB SS 0°C $:005 16 SAES 27.3 °C. 0°C 58 fo 1 g 58
20efDod Bosnird 8205 B2S 5O (Le = 80 cal g)
Options:

| 33617
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5 407

Question Number : 98 Question Id : 4557344098 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Tyre of a bicycle has volume 2+ 1073 m?. Initially the tube is filled 75% of its volume by air
at atmospheric pressure 10° Nm™. When a rider is on the bicycle. the area of contact of
tyre with road is 24+ 10~*m?. The mass of rider with bicyele is 120 kg. If a pump delivers
a volume 500 cm® of air in each stroke then the number of strokes required to inflate the
tyre is (g = 10 ms™2)

g W8 6o 2%1073 m? 850807 ) foi wol. dNGL JTeHde S fe o)
105 N2 565 g8 5055305000065° T5% 08505 r507Q) O Dorth. .8 s T8
P85 D &YDd 8RS HGSTEd) B rego 24x107 md DESSE 9D SBd
5508 120 kg. .8 How) 98 @F5S" 500 cm’ 585508500 e mdd ddde @508,

B i mdE JoRLB THORG e Hopg (g=10 ms™)

Options:
1 10

11

1

321

4 20

Question Number : 99 Question Id : 4557344099 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A diatomic gas consisting of rigid molecules is at a temperature of 87 °C. If the moment of
inertia of the rotating diatomic rigid molecule is 2.76x107° gem? then the rms angular
speed of the molecule is (Boltzmann constant = 1.38 x 1072 JK1)

c:ﬁ;].:ﬁ 2moaen D05 E Enﬁgaﬁdsﬁrmoé TR n:ﬂ:mf.ar ﬁué’.gt;@’.ﬁ 87 °C. |gisdm0 505.131‘:13;6:}_
BrD0STe008 iyl @) wldl grdoso 2.76x107 gem?wond, ©wmid) iy ms §FHob
S& (5°535>5 Jorogo =1.38 x 10722 JKT)

Options:
| 6% 101 rads™
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5 3 %102 rads™

3 6% 1013 rads!

4.3 % 1013 rads™!

Question Number : 100 Question Id : 4557344100 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the length of a stretched string 1s shortened by x % and the tension 1s increased by 44%.
then the ratio of the final and initial fundamental frequencies is 1:2. the value of ‘x" 1s

arifoinds o8 -.:jsf:@s‘_é;fo 44% 00, ardd x% éf_}@ﬁﬁ@é} O 8 0B &6
g aﬁ‘&"}za’,‘;};ﬁg{m@ E}?’qﬁ‘ﬁ 1:2. mond ‘x” Jend

Options:
. 20

30

L3

; 40

4 60

Question Number : 101 Question Id : 4557344101 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A small source of sound vibrating at a frequency 500 Hz is rotated along a circle of radius

100 . it :
—— cm at a constant angular speed of 5 revolutions per second. The numimum and maximum
T

frequency of the sound observed by a listener situated in the plane of the circle is
(Speed of sound is 332 ms™)

—

0 cm argardo e 5)F H0hHdond

500 Hz ﬂ“ég@mgﬁ aa?&o;ﬁﬁ:&afﬂi\ ﬁ‘.}-;ﬁi dﬂgi—iﬁ 2280
T

DEBHB 5 HOEBETED %65‘950{53 SRS @5r205° G0d. ®ond wd SHFLoos &)
H08oBuh I EIY Soboin K0 Fry TS0 (S50 54 332 ms)

Options:
| 338.5Hz.612.5Hz
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, 485.4Hz. 535.6 Hz
, 435.3 Hz, 565.6 Hz

, 4854 Hz 515.5 Hz

Question Number : 102 Question Id : 4557344102 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A lens forms real and virtual images of an object when the object 1s at u; and u, distances
respectively. If the size of the virtual image is double that of the real image. then the focal
length of the lens 1s (Take the magnification of the real image as ‘m”)

g8 D) S Uy 6L wy drore Eﬁtﬂﬁ ﬁéﬂ}ﬁjﬁﬂé& Wi -:Eméa_r Qs 2Badn Halaiy
medioeredn 8 §8o bd&d&“@aoa. Ty @EDow HBSTR0, J8 BeEdow HiNrras

Tododen mond = tdo aercoddo (D2 Ha&dHon =sSdSo ‘m’ e 6208 08)
&

Options:

1+ 11
[g}u
L 2

i)
[g ‘2111
e 0

o]

[ 0 —u, 1

2

3m
{M ]gm
3

Question Number : 103 Question Id : 4557344103 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Two point sources S, and S, separated by a distance 10 pm emit light waves of wavelength
4 um in phase. A circular wire of radius 40 um is placed around the sources as shown n
figure. then

(O 1s the centre of the circle and OS, = OS,)

10 pm drdoB I Tobedd To Doth =dsrar S;H0dw S, .4 um $oiidggo sOn 28
S & Q) 5708 Slomodn &mblanen. ¢ 25 iy 40 um Fgrdo o wt SyIms s
A0 HLOG® WrHdinmr GoTrd, wound

(0 58 Bowo Hoain OS, =08,)

Options:
Points A and B are dark and points C and D are bright

| A S8cin B en D88 DodhPen H8csn C H8csn D en Jenid Dodadhen

Points A and B are bright and point C and D are dark
A 5805n B e Den’d DohHen So8che C Hodoho D e L858 Do Hen

Points A and C are dark and points B and D are bright
A oot € oo 088 Dochien Hdcin B Sodin D en Jenih Dodnjes

Lid

Pomnts A and C are bright and points B and D are dark
A 508050 C o3 e Doduden Sobodn B Hobchy D ev D8 DothHen

Question Number : 104 Question Id : 4557344104 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Two equally charged metal spheres A and B repel each other with a force of 4x107° N,

Another identical uncharged sphere C is touched to A and then placed at the mid point of
the line jomning the spheres A and B. The net electric force on the sphere C 1s

BRrs woTen o Do é:ﬁcsmirsi 550 FPemen A $38050 B e 4x107° N 23008
Ejéfﬂ:}tﬁjﬁ“;ﬁjm. G ﬁdﬂgéé’lﬂ“ﬁ wHFdrd 7o C & Ao A S dadod, Sdrard
A $00in BRI e eb §870 By Sadghothd) 8¢ wowd. Fdo Card HaT 0 D86 Hdgs
100

Options:

4% 10°NfromCtoA

| 4x10°N. C508 A 3D

4= 10°NfromCtoB
4% 10°N.C %08 B 39

8 x 10° N fromCtoA
8 x 10°N.C %08 A 25

8 x10°NfromCtoB
, 8~ 10°N,C%0a B 39

Question Number : 105 Question Id : 4557344105 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

Four positive point charges +q are kept at the four corners of a square of side */°. The net
electric field at the midpoint of any one side of the square 1s

P

{take i

dn g,

=k

+q s3do fe oreoh sdzed T ghao FEI™ do wf Jhddo BnE) T doe
S o dd. wonad & SSdHo @), QBT eHeEo HG5H0BD 5 HOS DsgS siggo

L ko 850555
47[ Eﬂ

Options:
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4kq
e

16kq

55 1?

L2

8kq

Question Number : 106 Question Id : 4557344106 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Four capacitors marked with capacitances and break down voltages are connected as shown
m the figure. The maxinmm emf of the source so that no capacitor breaks down 1s

BrLB) $r8an goxsd Eie'_gesma’:o 808 Trenth Bt Hros” SrHddn 9D,
goado 5505 &) STFobd) é%?ﬁﬂca? D%ogS 8o By H8H emf

i i
| | | |
1kV 2kV
s
RET;
2UF 3pF
8 | |
il | |
ZkV 1kV
Options:
| 105KV
, 5.25kV
y 225kV
, 1.25kV

www.android.univer sityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



wWww.andr oid. previousgquestionpaper s.com | WWw. pr eviousgquestionpaper s.com | WWW.10S.previousguestionpapers.com
Question Number : 107 Question Id : 4557344107 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A Van de Graff generator has a spherical metal shell as an electrode which 1s at a potential
15%10% V. If the dielectric strength of the surrounding medium is 5x107 Vm™! then the
diameter of the shell 1s

el TRATD BIOLE Soth w8 Y fesd g8ydo 15x10° V &8 o%d 5§ 8
JOEET G5B, Sy &) oSrsEsn 668 380 5x107 VT wond = fesd §6y8
57458300

Options:
; 30 cm

| 15 cm

L2

3 60 cm

120 em

I

Question Number : 108 Question Id : 4557344108 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A dc source with internal resistance Ry is connected to three identical resistors each of

resistance R as shown in the figure. If the thermal power generated in the circuit is highest.
then

©0d6A0 g0 Rpffo &€ deadsrq) HLos”® drbd o w88 4 RAGTEIN o Sord
DB BP0 A8 T8 Edrt. Sedhost 2o &gy an fﬁ%&i}ﬁ;ﬁi

R
WW——M—— W

Options:
R=2

l.

. R=3R,
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R:&
3 3
4, 2= Re

Question Number : 109 Question Id : 4557344109 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a potentiometer. a wire of length 10 m having resistance 50 £ 1s used. A batterv of 5V
and a resistor of 450 € are connected in series to the wire. If an unknown battery of emf
‘E’ balances the potentiometer at 450 cm. then the value of E 15

2.8 ﬁ‘&ﬁ@p‘jﬁb&ﬁ}ﬁﬁi 10 m 285, 50 Q 28¢e Ko &S adad. & &id @8 5V
argéné So8cn 450 Q &6 Ko ;“-JSEE,T{%! E0hard. e 20000 emf ‘E’ Ko 2.8 arg%a-fj
= &5%@?&3&35& 450 cm 5¢ Heogo 35}5’3@6&:@1 E Dend

Options:

| 0225V

125V

B

-3
-2
h
<

4 0.0225V

Question Number : 110 Question Id : 4557344110 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A long straight wire carrying electric current ‘1° 1s bent at 1ts mid point to form an angle of
45° as shown in the figure. Magnetic field at a pomnt P at a distance d from the point Q of
bending is

ch:ﬁogs-? waro 17 e a8 et e‘.‘qk’g}ﬁj &iid Hoes® Srhd Do 45° Bwo Bodndin

'd Solg Hothd HE Sowrdy. Sodads Hohy Q Hod d Srdoss® e Hokhd P SE
w0hir) 08 o

P g i < A
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Options:

Lﬂi[wc—l]

1 ’-'h'ld

Lﬂi[ﬁ—l]

2 2nd

g1
drnd

g1
4 2md

Question Number : 111 Question Id : 4557344111 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A current carrying square loop is placed near a straight infinitely long current carrying wire
as shown in figure. The torque acting on the loop 1s

DEDgE PHTrodiR) dédErsY & i 800 edod Q0 aETEa0ss SHom
DOJNG® Srnd JdSNm whHadIh. GEnD Hodain &),

Tl

\a> fj
S —
b
Options:
Uy Rl
| 27 ab
Ly il
2 27 a(a+b)

Uy fi, [(b—a)
3 27 ab
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Question Number : 112 Question Id : 4557344112 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

1
At a certain place. the horizontal component of earth’s magnetic field 1s —7= times the
5,

vertical component. The angle of dip at that place is

28 POF0S" girechir) od §i8 §8a HSrodd wodo, rd §8a ©owrodol g, &3

&5 &2 e
B
Frodoes® wiard §wmo

Options:
| 30°

45°

-2

3. 60°

, 90°

Question Number : 113 Question 1d : 4557344113 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The energies required to set up in a cube of side 10 cm
(a) auniform electric field of 107 V! and
(b) auniform magnetic field if 0.25 Wbm™ are respectively about

(Mg =4m<107 Hm !, €,=8.9«1012 Fm1)

10 cm g€h20 e Hadsiinnes®
(a) 2868 H%gS FESn 107 V! Hr8asx
(b) 2868 woHim o8 S 0.25 Whn 2 QI8 FHOS FEien SHDT T

(Mo =4m=x107" Hm™. €,=8.9x10" Fm™)

Options:
, 04457 257

-2
=
Lo
h
=
-3
i
—_
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, 04473257

Question Number : 114 Question Id : 4557344114 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The rms value of emf given by E = (8 sin @7+ 6 cos mf) volt is

E = (8 sin @/ + 6 cos @) volt Harey @08 rms Hend

Options:

;3 10V

, 1082V

Question Number : 115 Question Id : 4557344115 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An electromagnetic radiation has an energy 14.4 keV. To which region of the electromagnetic
spectrum it belongs

.8 ijcﬁagj{ﬁo‘hir?,oé D808z 48 14.4keV. chiogdoﬁ}ﬁ%oé aﬁg:ﬁ&a&m?éb 2 oSS
£ D88y Jothdod.

Options:

Infrared

L Sor0159

Visible
r:;‘\r“afg

Ultraviolet

5 m&dereT i

X -ray
4 X - DB
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Question Number : 116 Question Id : 4557344116 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An o - particle and a proton are accelerated from rest by the same potential. then the ratio
of their de-Broglie wavelengths is

2.8 O -800 Hbodn w.f T @%eji@)& S0k 8 FEQ0HS o8 1600 BoGRN.
©ond & & @rod SorBomge Vs

Options:

N
- 1:2-\[’5

-
b2
[a—

Question Number : 117 Question Id : 4557344117 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The difference between the radii of n™ and (n + 1)® orbits of hydrogen atom is equal to the
radius of (n— 1)™ orbit of hydrogen. The angular momentum of the electron in the n™ orbit
is (/1 1s Plank’s constant)

TEBS BESrHeST nd »éodn (n + 15 g5z THTTO B0 IrEes @08
(n—1)S 857 TR eSS, nd 85070 Qo §*50% Gagaiio

(/i o %Toéo}

Options:

h

17

2
!'T

L3
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Question Number : 118 Question Id : 4557344118 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The maximum potential energy due to electrostatic repulsion between two hydrogen nuclei

=9%10° Nm”> C>

1s nearly (radius of the nucleus = 1.1 fermi) =
ey

[=]

Bodh TrEas Sodse Mgy RY DhgS D86 oS $ON 1107 Ra&udE Ddrdm

1

dne,

(Bos argirgsn =1.17%6 =9x10° Nm’ ™

Options:
| 0.65MeV

- 2.09 MeV

L2

, 3.31MeV

4 0.92MeV

Question Number : 119 Question Id : 4557344119 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For the combination of logic gates shown in the figure. the equivalent logic gate is

HeaSooes® 2830 s‘;rida, oore PO 080 cﬁ;ﬂg@é —;:62:5\:} Ej“vngcﬁé):

A
B |
A
B
Options:
;. AND
1. NOT
; NAND
» NOR

Question Number : 120 Question Id : 4557344120 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical _ _ _ _ _ _ _ _
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A TV transmifter has a range of 50 km. The height of the TV transmuitter 1s
(Radius of the earth R, = 6.4 » 10%m)

.8 TV @irdsd 50 km orgayd §00 wob. =ond TV @ards Jd)
(gfrdn argardo R, =6.4 x 105 m)

Options:
1 195.3m
, 186.5m
3 206 m
4 175m
Chemistry
Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 4557344121 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The ratio of de Broglie wave lengths of two particles. having mass ratio 1:3 and kinetic
energy ratio 2:1 is

(B5go"8 Apd 1:3, fé&edie 0@ 2:1 He Boty Swro B1E7°® S0 Soge WME
o o gl —

Options:
W A

Bz
3.'J§5\E

[

[
]

Question Number : 122 Question Id : 4557344122 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical _ _ _ _ _ _ _ _
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If uncertaimnities in the measurement of position and momentun of a microscopic object
of mass ‘m’ are equal. then the uncertamnity in the measurement of velocity is given by the
expression

(B53gT8 “m’ e 2.8 JrEy 59D g;:ilo, lab3 AT Donoiitroe™d addyddio Henden

RDATH0 WONINYH, T 2 Q) DGowoitins’d edfS&o Jendsd Sggo A FTA

Options:
I
1 Ndrm
1
_x'_
L [ -l
fi 1
s 4T \Nm
h
4 2Tm

Question Number : 123 Question Id : 4557344123 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In lanthanides. with increase in atomic number atomic radius decreases. except for the
element X, What 1s X7

erofI3B0S”, HEST f“fmng 2Hhded X Sorefo D6 0AdS i HESrmd
ga‘ﬁo‘m -érij@‘a:o X 295058 287

Options:

. Gd

En

-2

;3 Im

4 Dy

Question Number : 124 Question Id : 4557344124 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Dipole moment order of which of the following pairs of molecules is not correct?

Bof amod wmoHes* BRI [graos (Bano S8 TeS?

Options:
| HF = HCl

3

-

H,S > CO,
, NH; > NF;

, CH, > CHCly

Question Number : 125 Question Id : 4557344125 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

X and Y are the two covalent molecules in which the hybridization of the central atoms is
same. but shapes are different. X andY are

X. Y @5 Do dodradod woded” Sod H88rand) 90868000 88 wonshyiis
L3 %é&é}m} éjsﬁalorr-* aotran. X Y en

Options:
I XEF4 ; NH3

L-2

BF; . H,0

CH4 & BEC]Q

Question Number : 126 Question Id : 4557344126 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

At same temperature and pressure. the rate of diffusion of gas X’ is 3./3 times that of a
gaseous hydrocarbon of molar mass 54 g mol™. The molar mass of X in g mol is

28 SIS, Do 58, ‘X' w3 arosn argnhs Din, 54 gmol ! Frers $55078 e ok
TEs e ol .3\,@ Bt I8 8. X Jrerd ($550°3 g mol! e>es®

Options:
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Question Number : 127 Question Id : 4557344127 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

From the given reaction
2KL*I1104 +3H,80, +5H,0, —» K,80, +2MnS0O, +8H,0+50,
Find the normality of H,O> solution. if 20 mL of it is required to react completely with

16 mL of 0.02 M KMnOy solution. ( Molar mass of KMnO, = 158 g mol™1)

ol qageds Sog oo
IEKIv_[uDAi +3H,80, +5H,0, — K,50, +2MnSO,+8H,0+50,
16 mL & 0.02 M KMnO, (Frer5 (555073 KMnO, 158 g mol?) & Hrdm BOgT 0H0BLTAE

20 mL HyO, S0 22536500085, & (3700 o°omDid S8 sisw.

Options:
| 4% 102N

]
)
4

LA

=
ta

Z,

5 6% 102N

8 x 102N

I

Question Number : 128 Question Id : 4557344128 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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At the temperature T(K) for the reaction X504y = 2XO0y AU = xkImol ™.

AS=y JK 1ol . Gibbs energy change for the reaction is

(Assume X,04. XO,are ideal gases)

ﬁ'ﬁ_ﬁ.‘;[{‘;”ﬁ T(K} :Jlg Xﬁof‘i(@} _}EXOE(&T‘} E‘-ﬂ Tﬁdé‘jé&

AU = xkImol ™, AS= 2 | K ' mol™?

& Sdgso Af) 48 Srdyy (XH04. XOj o sbdardindeon grdodidn)

Options:

l

L3

1000 x +2R (T —y) Jmol™!

1000 x+T (2R — y) I mol !

; ¥+ T (2R —y) Jmol™

4

x+ 2R (T —y) Jmol™

Question Number : 129 Question Id : 4557344129 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arrange the aqueous solutions of the following salts in the increasing order of pH

pH 2380 Eoes® 1fof odmre a0 (PHmred S bebitaby

CuS0,
I

Options:
 I<T <

I<m <1

L2

Ol < 1L <1

Ll

IM<II<I

T

NaCN K(Cl
IT I

Question Number : 130 Question Id : 4557344130 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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For the gaseous reactions (I) and (IT). the equilibrium constants are X and Y respectively.

1
L 5 Nagg T0sg) = NOyq

L 2NOyg) = NoOyg)

Using the above reactions the equilibrium constant Z for the reaction (IIT) given below 1s
ML Noagy s Mo ¥ 2085,
aradnsdgen (1. (II) o8 :’Jaﬁo@%}zmos“m adamr XU Y.
y -
L 5Ny 0y == NOgg

I 2NOyy = NyOy,
» Wogos ead@riod §od $dg (OI) & éé}@“ﬂ%moéo L Ded

M NyOyy = Ny 204,

Options:
| Z=XY
2
ety
7 X
oy = 5
3 XY
1
F=rs—
4. XY

Question Number : 131 Question Id : 4557344131 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Match the following

List-1 List-1I

A) Electron deficient hydride I) CH,
B) Electron precise hydride II) B,H;
C) Electron rich hydride ) CaH,
D) Saline hydride IV) NiHgg
V) PH;
Sob T80 2850500
erd)e -1 aFde -1
A) dogs Srgdd TEe ) CH,
B) Jdogeen §hdor o @6 Iy B,Hg
C) Jdegeon wigor fe @& Iy CaH,
D} 0 E‘% _:Diﬁ@& IY] N]H{),ﬁ
V) PH;
The correct answer 1s
D8N HATTTSHN
Options:
(A) (B) © D)
. IOI vV il v

(A) (B) (C) (D)
i I i v

(A) (B) (C©) (D)
, V II Il Y

(A) (B) (© (D)
I I A% I

Question Number : 132 Question Id : 4557344132 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Be and Al show similarities in properties due to diagonal relationship except in the property
X given below. What 1s X7

808 60 X D&, ndS Gomed” Be. Alen 84 Somodo o8 FriragEs Srierown.
X w556 269

Options:
Both form basic oxides and hydroxides

| Botr 56 sBE0D, TEHE0S WD

Tons of both have strong tendency to form complexes

Dofotd woSrss So3aradih T0gg0 OO w000k

L2

In vapour phase chlorides of both have C1~bridged chloride structure
0500 (@RS BOHGHM, wergdodod §okes Cl™ 5088 Jumwren &0tron

Chlorides of both are soluble in organic solvents

Oofodd §0&en E6\S \Tramoed gdarbaron

Question Number : 133 Question 1d : 4557344133 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the structure of B,H; . the number of BH, groups present in one plane. and the munber of
B-—H bonds. B-B bonds. B-H-B bridge bonds are respectively

ByHg 070065 w8 08’0 BH) drfte dopg HHdatn B-Hworze, B-B aor,
B-H-B 74§ 20fre ;’Joajém S&dm

Options:
. 2.0,3.2

L
L
-2
-2
2

5 20,

(o]

i 2 AT

Question Number : 134 Question Id : 4557344134 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Identify the incorrect statements from the following

I  Tinin +2 state acts as reducing agent while lead in +4 state acts as strong oxidising
agent,

I Silicon exists as both [SiFs]* and [SiClg]* forms

IM. The hybridisation of carbon in fullerene is sp’

IV. Among Ge. Sn and Pb lowest melting point is for Sn

ol ardds® J0TS argmgodd MHEowiEn

L &a +2 & &e5° Bosdsimd, 86 +H4 mw@"" 2o =858hm HaBoHob
I 5855 [SiFs]* . [SiCl]F o3 Bodh drares® ofoshd

I 320" shd sp? Hosbsdmod” &0k

IV. Ge. Sn. Pb &e¢5* Sn 803 (B0#55:8 L) 88 €00

Options:

L LIV

ILIV

L2

3 ILIIO

4 OLIV

Question Number : 135 Question Id : 4557344135 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Methane of the polluted air reacts with ozone and forms the compounds

endly mOST GoR BN, LERS I6§Tod J6\ED %’33&5@1@3

Options:
H- (|'_l ~H.CO,
O

H- (|:| —H,CH,=CH-CHO

1

CH,=CH-CHO. C,H;CHO

CO,.H,0

el
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Question Number : 136 Question Id : 4557344136 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A): Propene on addition with hydrogen bromide 1n the presence of peroxide
gives 1 - Bromopropane as the major product

Reason(R): |- Bromopropane is the major product because it is formed through the
stable carbocation

D3yBo (A): 2UE)E Bgoss |FaS TE RS FTHES Sosoko ob 1 - @ Rr@ns
BTS D)o Qs
5o (R) : 1 - Far@ s @ors aédo Jodssm wd 035 52 0yg o0

o0 L"Jcin*jié&:ﬂ}

The correct answer is
&Bg_io{() SIS ALY

Options:
(A) and (R) are correct. (R) is the correct explanation of (A)

| (A) 3980 (R) 98059 $8050 (R), (A) & 58508 2562

(A) and (R) are correct but (R) is not the correct explanation of (A)
(A) h8odn (R) 585380 520 (R). (A) 80 50600 D6m s

(A) 1s correct but (R) is not correct

(A) 5863056 5% (R) H0G0SH 5960
(A) 1s not correct but (R) is correct

, (A) 8086 56 50 (R) 3086

Question Number : 137 Question Id : 4557344137 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following represents the hyperconjugation etfect?

§0B arideS” IB wddocsni) Herard) Sg8o Wasnd?

Options:
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@ e _

=0, N —35 e
|
N C
, CH;—CH,—CH, —» CI
@
L’I\HQ NHE
o
—
3.
H H B H
| | | |
g —c® s g o=
| | | |
H H H H

Question Number : 138 Question Id : 4557344138 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Crx 05/ % CH;COCI R
Hemne—me ydrous AICT, > ©
¥ 1020 atm g

Y in the above sequence of reactions is

2 B W0ged” Y edidsh

Options:
I
| CHs—C-H
O
I
, CgHs—C—OH
; CetHs—CH;
I
, CeHs—C—CHg
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Question Number : 139 Question Id : 4557344139 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A metal crystallizes in two phases. one as fec and other as bee with unit cell edge lengths of
3.5 A and 3.0 A respectively. The ratio of density of fcc and bee phases approximately is

8 %o Bodh @SRes” ;i’:&%%é;ao Doboh. w88 HofSohd fosdost (foo),
S06°8¢5 =ods SoiHd Prarstdods (bec) &ob. 778 oHrdd S woth SEHen SDm
3.5A.3.0A fec, bee @rige rogde NG Srdm

Options:
( 1.5:1.0

A501s

L-2

Question Number : 140 Question Id : 4557344140 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When 36 g of a non-volatile. non-electrolytic solute having the empirical formula CH,O
1s dissolved in 1.2 kg of water, the solution freezes at —0.93 °C. The molecular formula of
the solute is (K; of water = 1.86 K kg mol)

wgrdE e CHO Ao 36 go wE ward)ie, eddyhEhags roded) 1.2kg 8
gonodr AAVBS @dmo —0.93 °C 34 HReSto BodSS, s @ado BRI
(D45 KeDens 1.86 K kg mol ™)

Options:
|, CH,0

=

3
)
=

C,H,0,

L-2

; C3Hg0;

s, CaHsO,

Question Number : 141 Question Id : 4557344141 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Benzene and toluene form an ideal solution over the entire range of composition. The
vapour pressure of pure benzene and toluene at T (K) are 50 mum Hg and 40 mm Hg respectively.

What is the mole fraction of toluene in vapour phase when 117 g of benzene is mixed with

46 g of toluene ? (molar mass of benzene and toluene are 78 and 92 g mol! respectively)

@d) 0L wdHhos” Dodd, HOSw =dd) Sl afdaron. T(K) 54 He
B0, 7odJe erdy o H&aen $55m 50 mm Hg, 40 mm Hg wondd® 117 g 8054
46 g t5°ORE" EODIHD, ey @SZe 702 Ird o Jod? (HoEs, 570 Irers
GHgordhen $EHm 78,92 g mol en)

Options:
, 0.78

0.21

-2

Question Number : 142 Question Id : 4557344142 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The rate equation for a first order reaction is given by [R] = [R], e™. A straight line with
positive slope 1s obtained by plotting

([R]y = Initial concentration of reactant. [R] = concentration of reactant at time. t)

HED0 (Edros S6g5 Bn DEdmo [R]=[R]p et adtwdss. Sobarides® 3¢5 Sy
HE)5 Oy Hb0d” dldaer 9O H60y Jdydsoh
([R]p = godrasso (rdogf mEd), [R]=tsroo 55 Eolrasso mEd)
Options:
lo 2[ Jo Vs tume
[R] 5200

[R] Vs time
7 S°e10

log [R] Vs time
3 50
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R
loge— V5 time

[R]

4 500

Question Number : 143 Question Id : 4557344143 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For the oxidation of 0.2 M FeSOy solution 0.965 amperes current is passed through it for
1 hour. The volume of the solution that is oxidised in mL 1s

0.2 M FeSOy [mrsiea=q) -5%%:115&”“?&@ 0.965 moRoig HhgEd 1 fotard (HDET0s
Sbéﬁjcﬁo, Eé&éd@aa FoD ([TH00 PSHdSreo mL e’

Options:

. 70

80

L2

3. 60

4. 90

Question Number : 144 Question Id : 4557344144 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Freundlich adsorption isotherms for the physical adsorption of a gas at temperature

T, . T, and T5 are shown in the graph given below. The correct relationship between Ty . T,
and Tjyi1s

Bod Byratios® Ty . Tr. Tz (s 8¢ aroind Ta8 @58 10708 Dow0H0DS Eronoda)

SR Open drdemgon Ty, T, Tye Hodg 505308 HDowodo

o

TR
T,K

T;K

|= —

—
"
St

Options:
1 Tl = TE < T3
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L2

I<T,<T

.Tg‘:Tl‘:Fl}

Question Number : 145 Question 1d : 4557344145 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The ore which is concentrated by leaching

S0 o aroldEd0 RDodnad Sné plao

Options:
| PbS
, AlLO;.2H,0

- Sn0;

. FE’_}_O;

Question Number : 146 Question Id : 4557344146 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Hot concentrated sulphuric acid on reaction with which one of the following elements.
produces two gaseous products?

a6 ek Beryg8s &80, Bob 2 Boreod® S6gT ol Bo Tain & T08 J8)EHE6?
Options:

1, &

2.8

3 Cu

4, 1

Question Number : 147 Question Id : 4557344147 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The pair of xenon compounds which have same number of lone pairs of electrons on the
central atom is

BoSE HTSred) P BEES Bopges® w08 JOTS zobien Ko JTd HAFTe Bod

Options:

1 XE03 3 _XEFﬁ
5 XeF,.XeF,
XeF, . XeOy

; XE‘F4 . XEO].:4

ECY

Question Number : 148 Question Id : 4557344148 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following statements are correct?

I) Pymolecule is very reactive because of angular strain

IM) The basicity of H3PO;51s 3

IT) In gasphase. all P-Clbonds of PCl; have same bond length
IV)

In solid state. PCl; exists as an 1onic solid. in which anion [PClg] has octahedral and
cation [PCl,]™ has tetrahedral shape.

§ob argmgees DD HOEHHD?

) &dhod Bosrd S8 Pyond =6 dorgiodd 508 Gotnod

M) H3PO;zdd 3

o) oodn @rsges” PCls &0 @) P-Claogren &8 wod Foogd) 88 wodron

IV) 308 ?&3@&5“' PCls=airds o8 Hordormr &od, i ssairs [PCl] & sgir@gd
s88, sLOOSER [PCL]™ S SErir@ds =58 sotnod

Options:

L I&IT

TM&IV

L2

I1&IV

I& I

=
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Question Number : 149 Question Id : 4557344149 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arrange the following ligands in the order of increasing field strength

§ob Brrogd 3@ poo BN (EDH06° @B6yH0

H,O CcO NH; g F
I I AT Vv
Options:
W s V<I2ll<

NNV T <]

]

s V<I¥=<M=<I<I

L IV<I<V<IO<IO

Question Number : 150 Question Id : 4557344150 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For which one of the following elements. M>" | M2* standard electrode potential is more
positive?

806 Srosces® 308 MY | MY @irs Jogs o ©i8 Sadgo?

Options:
;W

Cr

-2

3 Mn

4 Fe

Question Number : 151 Question Id : 4557344151 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following structures represents the neoprene rubber?

8od dormored® 6 AGTHS S Hg8o Basnss?

Options:
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| FCH,—C(Cl)=CH-CH, t,
, TCH,—CH=CH—CH,—CH,— CH(CN) 1,
, FNH-CO-NH- CH, ¥,

4 OCH, - CH,00 C co1.

Question Number : 152 Question Id : 4557344152 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The type of bond connecting two nucleotides is

Bod SrgiarBaod £07 godd dgo

Options:
Peptide bond

Dk wodo
1. & 3

Hyvdrogen bond
TE B0 wogo

L

Phosphodiester bond
5 3‘%@&%5 20850

Glycosidic bond

E%“E&E 2080

Question Number : 153 Question Id : 4557344153 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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OH

@ NaOH , < {;};?;; ,y_ (CH:CO)O/H" . , CH,COOH
I

The correct statements about Z from the following are
I) Itiso-Hydroxybenzoicacid

) Itisanon-narcotic analgesic

II) Ttacts as antipyretic

IV) TItacts as antihistamine

OH

@ NaOH (;}f;,; ,y_ (CHCO),0/H" | Z + CH,COOH
tH

Z B Hoeobhod) n"iﬁf:c:ﬂ::ua’} aNdae)

) abd o-3r@E§Bod ons =0
) ab &8 - o688 QD8
) =6 egoed) 02008

IV) 28 ddnd D66m HABH06

&
d

Options:
| IM&II

I&IV

L2

s &IV

, 1&II

Question Number : 154 Question Id : 4557344154 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the halogen exchange reaction from the following

B0l oS FS'ad Srdyd STgd HBowhd

Options:
Finkelstein reaction
SEO R W
1 o
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Sandmeyer reaction

; roG D058 w55

Fittig reaction

R Sdg
gy

Whurtz - Fittig reaction
@08 - DN 6dg
4 a

Question Number : 155 Question Id : 4557344155 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following structures represents cumene?

§ob Ao I8 Ergands 3enhHoh?

Options:

goe

Question Number : 156 Question Id : 4557344156 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In which of the following reactions. benzaldehyde is formed from benzoyl chloride and
hydrogen in the presence of Pd-BaSOy?

& 808 T83¢S" BoFond §86, @ aden Pd-BaS0y $0goss” Bordirsd J6)03
S5 D&?

Options:

www.android.univer sityupdates.in | www.univer sityupdates.in | www.ios.univer sityupdates.in



www.andr oi d. previousgquestionpaper s.com | WWwW. pr eviousgquesti onpapers.com | WWw.10S.pr eviousguestionpapers.com
Stephen reaction

&= = ey
b T o
1. ﬁﬁ_iq_nfu tﬁuﬁ

Etard reaction

':—:eéa‘-'g ::565

Gatterman - Koch reaction

meabSn-59 rlef

Rosenmmund reduction reaction

Feds06 goIr8dn =g

Question Number : 157 Question Id : 4557344157 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The reagent used for the conversion of allyl alcohol to propenal is

&f.-gef_l se) TS5 @haSm Srdéod” &H@Arhon sd8o
Options:

1 03 / HEO — Zn dust (53‘“59)

DIBAL-H

L3

: C‘I'OECIQ / H30_

Lsd

C SHSI\-'H+ C103 C.l_

I

Question Number : 158 Question Id : 4557344158 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The compound which does not respond to 1odoform test is

w@ENE I D658 Hedody JDEso
Options:

| CH;—CHO

, CH;CH (OH) CH,
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, CoHs—CO - CyHs

, CgHsCO CHj

Question Number : 159 Question 1d : 4557344159 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following reactions does not represent the aldol condensation reaction?

§ob $ogees” b wepd Hodsd Pogd Sraouds?

Options:
. 0 o
NaOH/A
| 2 )J\H e >
0 ..
)J\ g GiLNaOH/A
H /Y By >
7, O
0
5 )J\ (i) Ba(OH), (i) A
3
O

T

' conc. NaOH/A
2 H)J\H e

Question Number : 160 Question Id : 4557344160 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The amine which does not react with chloroform and ethanolic potassium hydroxide is

§'6° gm0, REITOF trhodo ITHES)RE SGiTodn I

Options:
CH;—CH-NH-CH;
|

7. CgHs—NH;
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CH
3
Cj ;
3 NH,
Br

NH,

4.
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